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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
01 1395 14.1 3.6 20 70.5 99.9
02 1392 17.7 6.2 28 63.1 99.7
03 1394 5.7 2.9 12 47.5 99.9

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe 
Reader in order to fully 
access the exemplar 
material.
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 1 [20] 


Marks will be awarded for Communication and content and Linguistic knowledge and 
accuracy.  


See Assessment Grid for Question 1 Higher Tier 


Guidance for examiners  


Candidates are required to address the three compulsory bullet points and write 
approximately 90-120 words overall. The candidate must provide some evidence of 
coverage of all bullet points in order to access the full mark range. The task will enable 
candidates to demonstrate their ability to produce clear and coherent text of extended length 
to present facts and express ideas and opinions; to make independent, creative and more 
complex use of language, as appropriate, to note down key points, express and justify 
individual thoughts and points of view, in order to interest, inform or convince. They will also 
be able to demonstrate their ability to make accurate use of a variety of vocabulary and 
grammatical structures, including some more complex forms, to describe and narrate with 
reference to past, present and future events. They will be required to manipulate the 
language, using and adapting a variety of structures and vocabulary, including appropriate 
style and register.  


(a) A good variety of vocabulary will include common and familiar and less common and
less familiar words. A good variety of grammatical structures will include simple word
order and short, simple sentences using common structures. Complex structures will
include varied and more complex word order and extended sentences with a range
of structures such as conjunctions, pronouns and adverbs.


(b) When assessing style and register, the following will be taken into account:
• the appropriateness of the piece for the intended audience (e.g. a friend, peers,


tourists, teachers) and the appropriate register (formal or informal), including
verbs and possessive adjectives, used consistently throughout, as appropriate to
the level.
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Assessment Grid for Component 4: Writing Question 1 Higher Tier  [20] 
 


Band Marks Communication and content Marks Linguistic knowledge and accuracy 


5 9-10 


• A very good response. Relevant information 
presented to meet all requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) 
are clear.  9-10 


• A good variety of vocabulary and grammatical structures used, 
including attempts at complex structures.  


• A very good level of accuracy with mainly minor errors. 
References to past, present and future events are mainly 
successful.  


• Style and register are appropriate with minor lapses. 


4 7-8 


• A good response. Relevant information presented to 
meet almost all requirements of the task with minor 
omissions.  


• Facts, ideas and opinions (as appropriate to the task) 
are mostly clear.  


7-8 


• A reasonable variety of vocabulary and grammatical structures 
used, including some attempts at complex structures. A good 
level of accuracy with occasional major errors and more 
frequent minor errors. References to past, present and future 
events are attempted but may not always be successful.  


• Style and register are mostly appropriate. 


3 5-6 


• A reasonable response. Relevant information 
presented to meet most of the requirements of the 
task.  


• Facts, ideas and opinions (as appropriate to the task) 
are generally clear but lapses are likely.  


5-6 


• Some variety of vocabulary and grammatical structures used 
including occasional attempts at complex structures.  


• A generally good level of accuracy with more frequent major 
errors and frequent minor errors. References to past, present 
and future are attempted with limited success.  


• Style and register may not always be appropriate. 


2 3-4 


• A basic response. Relevant information presented to 
meet some of the requirements of the task. 


• Some facts, ideas and opinions (as appropriate to the 
task) are sometimes clear but the message breaks 
down occasionally.  


3-4 


• A simple range of vocabulary and grammatical structures used.  
• Some accuracy when using simple structures, though errors 


are often present.  
• Limited awareness of style and register.  


1 1-2 


• A limited response. Relevant information presented 
to meet some aspect of the requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) 
are often not clear and the message may break down 
frequently.  


1-2 


• Little variety of vocabulary and very simple grammatical 
structures used.  


• Little accuracy demonstrated.  
• Little or no awareness of style and register.  


0 0 • Response not worthy of credit or not attempted.  0 • Response not worthy of credit or not attempted.  
Where a candidate produces a response which is wholly irrelevant to the task set, 0 marks for Communication and content and Linguistic knowledge and accuracy will be 
awarded.  


 












C = Band 3 - 5 marks- reasonable response - facts etc. generally clear


L = Band 3 = 5 marks - some variety - general good level of accuracy -
tenses not always correct


Total = 10 marks 
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C = Band 4 - 7 marks - good response - facts, ideas & opinions mostly clear 


L = Band 4 - 7 marks - reasonable variety, good accuracy, tenses attempted but 
not always accurate


Total = 14 marks
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C = 10


L = 9


Total = 19 marks
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Answer all questions.


1. Écrivez une page pour un site web au sujet d’une visite à un hôtel à Boulogne, en France
l’année dernière. [20]


Vous pouvez ajouter plus d’information mais vous devez inclure :


• ce qu’il y avait dans l’hôtel
• vos opinions de l’hôtel
• ce que vous voudriez faire comme activités à l’hôtel.


Écrivez environ 90–120 mots en français.
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Question 2  [28] 
 
Marks will be awarded for Communication and content and Linguistic knowledge and 
accuracy.  
 
See Assessment Grid for Question 2 Higher Tier 
 
Guidance for examiners  
 
Candidates are required to address the two compulsory bullet points and write 
approximately 150-180 words. The candidate must provide some evidence of coverage of 
both bullet points in order to access the full mark range. The task will enable candidates to 
demonstrate their ability to produce clear and coherent text of extended length to present 
facts and express ideas and opinions; to make independent, creative and more complex 
use of language, as appropriate, to note down key points, express and justify individual 
thoughts and points of view, in order to interest, inform or convince. They will also be able 
to demonstrate their ability to make accurate use of a variety of vocabulary and 
grammatical structures, including some more complex forms, to describe and narrate with 
reference to past, present and future events. They will be required to manipulate the 
language, using and adapting a variety of structures and vocabulary, including appropriate 
style and register.  
 
(a) A very good variety of vocabulary will include common and less common, and 


familiar and less familiar words. Complex grammatical structures will include varied 
and complex word order, extended sentences with a range of structures such as 
conjunctions, pronouns and adverbs (see Grammar list in Appendix B of the 
specification with grammar items that are specific to Higher Tier).  


 
(b) When assessing style and register, the following will be taken into account:  


• the appropriateness of the piece for the intended audience (e.g. a friend, peers, 
tourists, teachers) and the appropriate register (formal or informal), including 
verbs and possessive adjectives, is used consistently throughout, as appropriate 
to the level.  
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Assessment Grid for Component 4: Writing Question 2 Higher Tier  [28] 
 
Band Marks Communication and content Marks Linguistic knowledge and accuracy 


5 16-18 


• An excellent response. Relevant and detailed information 
presented to meet all requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) are 
expressed and justified.  


• Communication is clear with little or no ambiguity.  


9-10 


• A very good variety of vocabulary and grammatical 
structures, including complex structures.  


• A very good level of accuracy with only a few minor errors. 
References to past, present and future events are 
successful.  


• Style and register are appropriate throughout.  


4 12-15 


• A very good response. Relevant information with some 
detail presented to meet almost all requirements of the 
task with minor omissions.  


• Facts, ideas and opinions (as appropriate to the task) are 
expressed and justified.  


• Communication is mostly clear but with a few ambiguities.  


7-8 


• A good variety of vocabulary and grammatical structures is 
used, including complex structures.  


• A good level of accuracy with some minor errors and 
occasional major errors. References to past, present and 
future events are almost always correct.  


• Style and register are appropriate with minor lapses.  


3 8-11 


• A good response. Relevant information presented to meet 
most of the requirements of the task.  


• Facts, ideas and opinions (as appropriate to the task) are 
expressed with occasional justification. Communication is 
usually clear but with some ambiguities.  


5-6 


• A variety of vocabulary and grammatical structures is used 
including some complex structures.  


• A reasonable level of accuracy. Minor errors are likely and 
there may be some major errors. References to past, 
present and future events are usually correct.  


• Style and register may not always be appropriate.  


2 4-7 


• A reasonable response. Relevant information presented to 
meet some of the requirements of the task.  


• Some facts, ideas and opinions (as appropriate to the task) 
are expressed.  


• Communication is sometimes clear but there may be 
instances where messages break down.  


3-4 


• A simple range of vocabulary and grammatical structures 
is used.  


• More accurate than inaccurate. References to past, 
present and future events are occasionally correct.  


• Limited awareness of style and register.  


1 1-3 


• A basic response. Relevant information presented to meet 
some aspect of the requirements of the task. Facts, ideas 
and opinions (as appropriate to the task) are occasionally 
expressed.  


• Communication may not be clear with instances where 
messages break down.  


1-2 


• Little variety of vocabulary, and simple grammatical 
structures used.  


• There may be major errors and frequent minor errors. 
References to past, present and future events have only 
limited success.  


• Little or no awareness of style and register.  


0 0 • Response not worthy of credit or not attempted.  0 • Response not worthy of credit or not attempted.  
 


Where a candidate produces a response which is wholly irrelevant to the task set, 0 marks for Communication and content and Linguistic knowledge and 
accuracy will be awarded.  


 












C = Band 3 - 8 marks - good response - communication usually clear


L = Band 3 - 5 marks - variety - reasonable accuracy- tenses usually correct


Total = 13 marks
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C = Band 3 - 11 marks - good response - communication usually clear


L = Band 3 - 5 marks - variety of vocab/grammar, reasonable accuracy, tenses 
usually correct


Total = 16 marks
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C = Band 5 - 18 marks - excellent response - all requirements met - justified 
and clear
L = Band 5 - 9 marks - good variety - good level of accuracy - tenses 
successful 


Total = 27 marks
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2. Écrivez un article pour un site français. [28]


Présentez et justifiez vos idées et points de vue sur un des thèmes ci-dessous.


Écrivez environ 150–180 mots en français.


Choisissez une question. Choisissez (a), (b) ou (c) :


(a) « Votre vie au collège »


Vous pouvez ajouter plus d’information, mais vous devez :


• discuter des avantages et des inconvénients de votre collège


• parler des activités scolaires que vous aimeriez faire.


Ou


(b) « L’environnement »


Vous pouvez ajouter plus d’information, mais vous devez :


• discuter des plus grands problèmes environnementaux dans votre région


• parler de ce qu’on devrait faire pour réduire ces problèmes.


Ou


(c) « L’amitié »


Vous pouvez ajouter plus d’information, mais vous devez :


• discuter des qualités que vous cherchez chez un bon ami


• parler de ce que vous aimeriez faire avec votre meilleur(e) ami(e).
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Question 3 - Translation  [12] 
 
The task will enable candidates to demonstrate their ability to convey key messages 
accurately and to apply grammatical knowledge of language and structures in context. Marks 
for translation will be awarded for conveying meaning and for application of grammatical 
knowledge and structures.  
 
The translation will be divided into five sections. For each section (3a, 3b and 3c), marks of 
0-1-2 will be awarded as follows:  
 


2 Meaning fully conveyed. Grammatical structures correct with very minor 
errors (such as accents, genders, agreements, etc.).  


1 Meaning partially conveyed but grammatical structures used are correct; or 
meaning conveyed but grammatical structures incorrect.  


0 Inappropriate or no response. None of the required information is conveyed.  


 
The maximum mark for conveying meaning and for application of grammatical knowledge 
and structures for this section is 6, as there are three sections to be translated.  
 
For each section (3d and 3e), marks of 0-1-2-3 will be awarded as follows:  
 


3 Meaning fully conveyed. Grammatical structures correct with very minor 
errors (such as accents, genders, agreements, etc.).  


2 Meaning partially conveyed but grammatical structures used are correct; or 
meaning conveyed but grammatical structures incorrect.  


1 Little meaning conveyed. Isolated words are communicated.  


0 Inappropriate or no response. None of the required information is conveyed.  


 
The maximum mark for conveying meaning and for application of grammatical knowledge 
and structures in this section is 6, as there are two sections to be translated.  
 
The total number of marks available for the translation task as a whole is 12.  
 
To aid examiners in awarding marks for conveying meaning and for application of 
grammatical knowledge and structures possible alternative answers will be discussed and 
agreed at conference. Where candidates have adopted a different approach, examiners are 
advised to discuss this with their Principal Examiner or Team Leader.  
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English  French 2 marks  *1 mark  


In my opinion, it is 
important to eat well. 


À mon avis, il est/c’est 
important de bien 
manger. 


Il est/c’est important (de) (bien) 
manger 


Five portions of fruit 
and vegetables a day 
is a good idea. 


Cinq portions de fruits et 
(de) légumes par/chaque 
jour est une bonne idée. 


Cinq portions de fruits et légumes 
par/chaque jour 
 
or Cinq portions de fruits et 
légumes est un bon idée 


Are you fit and 
healthy? 


Êtes-vous/es-tu en forme 
et (en) bonne santé ? 


Êtes-vous/es-tu  
Either 
en forme  
 
or en santé ? 


 
 


English  French 3 marks  *2 marks  *1 mark  


I am not very sporty but 
yesterday I went for a 
walk. 


Je ne suis pas très 
sportif/ive mais hier, j’ai 
fait une promenade/je me 
suis promené(e). 


Either Je ne 
suis pas 
sportif/ive  
 
Or Mais hier 
j’ai fait une 
promenade 


Either Je pas 
sportif/ive  
 
Or J’ai fait une 
promenade 


I would never smoke 
cigarettes and I think 
that drugs are 
dangerous. 


Je ne fumerais jamais 
de(s) cigarettes et je 
crois/pense que les 
drogues sont 
dangereuses. 


Either Je ne 
fumerais 
jamais des 
cigarettes or Je 
pense que les 
drogues sont 
dangereuses 


Either Je ne 
fume pas 
 
or Drogues 
sont dangereux 


 
 
*To be discussed at examiners’ conference  
 
Use of “tu” or “vous” is accepted. Accept any question form. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
C800UD0-1 EDUQAS GCSE French - Component 4 HT MS S22/CB 
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2 marks


1 mark


1 mark


Total = 5 marks
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1 mark
0 marks


1 mark - partially conveyed


2 marks - partially


1 mark - little meaning conveyed


Total = 5 marks 
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		HT 5- 22G2441000164580008

		HT 6 - 22G2441000166580008

		HT 7 -22G2441000209580008










2 marks - fully conveyed


1 mark - partially conveyed 2 marks - fully conveyed


2 marks - partially conveyed


3 marks - fully conveyed


Total = 10 marks





		1ft22G2441000105580004

		2ft22G2441000118580004

		3ft22G2441000134580004

		4ft22G2441000145580004

		5ft22G2441000157580004

		6ft22G2441000173580004

		7ft22G2441000183580004

		HT 1- 22G2441000106580008

		HT 2 - 22G2441000129580008

		HT 3-22G2441000144580008

		HT 4 -22G2441000146580008

		HT 5- 22G2441000164580008

		HT 6 - 22G2441000166580008

		HT 7 -22G2441000209580008
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3. Translation


Read the extract below about health and fitness. [12]


Translate into French.


In my opinion, it is important to eat well. Five portions of fruit and vegetables a day is a good 
idea. Are you fit and healthy? I am not very sporty but yesterday I went for a walk. I would 
never smoke cigarettes and I think that drugs are dangerous.


Write your answer in the space below. 


END OF PAPER


Turn over.











